
12.7

9
1

15
1

19
6

5
1

16
6

17
1

8
2

12
1

11
2

13
6

2
1

7
3

14
1

4
1

20
1

1
1 18

3

18
3

6
2

8
2 10

3

3
1

NOTES:

REFER TO MANUFACTURES SPECIFICATIONS FOR PROPER INSTALLATION AND CLINCHING PRESSURE 1.
FOR PART NUMBER 110-3132 AND 110-3181
-XX COLOR DESIGNATOR AS SPECIFIED IN SOP 620-8222.2.

REVISIONS
REV. DATE DESCRIPTION ECO BY

A 9/10/2013 PRODUCTION RELEASE 14376 RLH

B 9/22/2014 REMOVE: 020-6449 (1); ADD: 020-6449-XX 14792 MMG

ITEM PART NUMBER Description QTY
1 020-6430 SEAT, LATCH PIN, RB PRO 1
2 020-6441 SEAT RACK, REC 1
3 020-6449-XX LEVER, SEAT, RB 1
4 020-6456-XX TRACK, SEAT, MACHINED 1
5 050-2222 STICKER, SEAT POSITION, E-RB 1
6 110-3132 INSERT, CAL-12175-51 2
7 110-3172 SCREW, ISO10642, M6x16 3
8 110-3173 SCREW, M6x16, BHC, HE, ISO7380 2
9 110-3180 SCREW SHLD-12MM X 35 LG 1

10 110-3181 INSERT, M6, 610-4.2 3
11 110-3236 NUT, M6xP1.0, UNLOCK 2
12 110-3237 NUT, LOCK,M10xP1.5 1
13 110-3238 NUT, AC0RN, M10 6
14 110-3256 NUT, NYLON-INSERT,M8 X 1.25 1
15 120-3248 SPACER, ARM, LEVER, E-RB 1
16 120-3256 WASHER, M10, LOCK, ISO 6
17 140-3254 SPRING, LATCH, RB, PRO BIKE 1
18 718-5259 WASHER, PA6, 20mm X 13.2mm X 1mm 3
19 720-5020 ASSY., WHEEL-BEARING, 5400 6
20 720-5073-XX ASSY,WELD,CARRIAGE,SEAT 1

A

7 6 5 4 3 2 189

C

D

E

G

H

I

J

4 25 1789 36

B

ASSY,SEAT TRACK,RB,8020

REVCORE PART NO

FINISH

4400 NE 77th Ave., Suite 300
Vancouver, WA 98662

CHECKED TITLE

SCALE:  1:4

SEE NOTES

SEE BOM

INITIAL

CORE HEALTH & FITNESS, LLCMATERIAL

B

SHEET SIZE:  B
APPROVED

U.O.M.

RLHDRAWN

SHEET 1 OF 1

720-5074-XX
DATE

F

E

G

H

B

I

C

J

D

A

F

DOCUMENT STATUS:
 

LAND AMERICA P/N:VENDOR: MM

THIRD ANGLE PROJECTION

> 1000 
to 2000 > 2000 > 400   

to 1000
> 120   
to 400

> 30      
to 120

> 6       
to 30

> 3       
to 6

0.5        
to 3
0.05 0.05 0.1 0.15 0.2 0.3 0.5 -----

0.2 0.30.1 0.5 1.20.1 0.8 2

0.5 0.80.2 1.2 30.3 2 4

1 1.5----- 2.5 60.5 4 8

CLASS
 OF 

WORK

MEDIUM

VERY
 COARSE

FINE

COARSE

 

X

 

UNLESS OTHERWISE SPECIFIED DIMS ARE IN mm. 
TOLERANCES FOR MEASURE OF LENGTH ARE:

NOTICE OF PROPRIETARY INFORMATION

THIS DOCUMENT SHALL NOT BE REPRODUCED NOR
SHALL THE INFORMATION CONTAINED HEREIN BE USED 
BY OR DISCLOSED TO OTHER EXCEPT AS EXPRESSLY 

AUTHORIZED BY CORE HEALTH & FITNESS, LLC.

ANGLES = 2

1/24/2007

https://www.gympart.com/itemdesc.aspx?ic=STB020-6430&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STB020-6441&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST11837&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST11837&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST11837&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STB020-6449&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STB020-6449&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STB020-6449&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STB1154&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST20450&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STS1393&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10522&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10522&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST12310&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STB1178&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10523&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10524&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STB1232&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STB140-3254&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10519&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10245&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STB800-3913&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STB1053&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST11047&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STB720-5074&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams

	Sheet1
	Drawing View1


